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Scale factor

The polygons in each pair are similar.  Find the missing side length.

1)  

?

A

40

B

 

scale factor from A to B = 4 : 5

2)  

?
A

18
B

 

scale factor from A to B = 1 : 3

3)  

?

A

20

B

 

scale factor from A to B = 3 : 4

4)  

14

A

?

B

 

scale factor from A to B = 2 : 3

5)  

35A?B

 

scale factor from A to B = 5 : 6

6)  

3

A

?

B

 

scale factor from A to B = 1 : 3

7)  
8

A

?

B

 

scale factor from A to B = 2 : 3

8)  
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A

25
B

 

scale factor from A to B = 2 : 5

9)  
4

A

?

B

 

scale factor from A to B = 1 : 2

10)  
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48

B

 

scale factor from A to B = 5 : 6
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11)  

3

A

?

B

 

scale factor from A to B = 1 : 5

12)  
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A

?

B

 

scale factor from A to B = 1 : 5

     

Solve for 

     

x.  The polygons in each pair are similar.

13)  
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x − 1

A

42

B

 

scale factor from A to B = 5 : 6

14)  

   

x − 2
A

15B

 

scale factor from A to B = 2 : 3

15)  

 

2

  

x − 10

A
12

B

 

scale factor from A to B = 1 : 2

16)  
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x − 17
A

14
B

 

scale factor from A to B = 1 : 2

17)  
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x

A

32

B

 

scale factor from A to B = 3 : 4

18)  
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x + 1

B

 

scale factor from A to B = 1 : 6

19)  
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x + 5

B

 

scale factor from A to B = 1 : 3
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20)  

7A

 

3

  

x + 1B

 

scale factor from A to B = 1 : 4

21)  

 

−1 + 

  

xA

28B

 

scale factor from A to B = 1 : 4

22)  

21

A

 

4

  

x − 5

B

 

scale factor from A to B = 3 : 5

23)  

 

6

  

x − 1

A

42

B

 

scale factor from A to B = 5 : 6

24)  

10
A

 

2

  

x − 3

B

 

scale factor from A to B = 2 : 3

The polygons in each pair are similar.  Find the missing side length.

25)  

? A

12B

 

scale factor from A to B = 3 : 4

26)  
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A
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B

 

scale factor from A to B = 5 : 6

27)  
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A 10
B

 

scale factor from A to B = 1 : 2

28)  
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B

 

scale factor from A to B = 1 : 2

     

-3-



©r w2r0W114h 4Ksuat8a9 6StoNfntww1a4rDe1 jLBLvCG.0 J 3AclZlL OrJijgwhPtIs5 Grsensnehr0vaeWds.h x LMrardTeY tw5iWtPhc SI1nyfRihn9igt9eI kGWeJo2mNertEriyr.E Worksheet by Kuta Software LLC

     

29)  
24

A
?

B

 

scale factor from A to B = 4 : 5

30)  
4

A

?

B

 

scale factor from A to B = 1 : 3

     

Solve for 

     

x.  The polygons in each pair are similar.

31)  

6

A

 

−6 + 2

  

x

B

 

scale factor from A to B = 1 : 2

32)  

30

A

 

5

  

x − 9

B

 

scale factor from A to B = 5 : 6

33)  

3
A

 

−3 + 2

  

x

B

 

scale factor from A to B = 1 : 3

34)  
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x − 6 A

24

B

 

scale factor from A to B = 3 : 4

35)  
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B

 

scale factor from A to B = 4 : 5

36)  

15A
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x − 6 B

 

scale factor from A to B = 5 : 6
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